Name ________________________

Period _____  Date _____________

1. The half-life of cobalt-60 is 5.26 years.  How many half-lives have passed in 10.52 years?

2. After 4 half-lives 10 grams of uranium remains.  How much uranium did you start with?

3. How much time has passed if carbon-14 has a half-life of 5730 years and 2 half-lives have passed?

4. A rock that originally had a mass of 1.00 gram of uranium-238 now has only 0.50 grams.  How old is the rock if the half-live of uranium-238 is 4.5 billions of years.

	Element
	Symbol
	Atomic 

Number
	Mass

Number
	Number of

neutrons

	Nitrogen-15
	
	
	
	8

	
	


	
	
	

	Beryllium-9
	
	4
	
	

	Calcium-40 
	
	
	
	


1. Use the following information to determine the atomic mass of chlorine. Two isotopes are known: chlorine-35 (mass = 34.97 amu) and chlorine-37 (mass = 36.97 amu). The relative abundance’s are 75.4% and 24. 6%, respectively.

2. Given the relative abundance of the following naturally occurring isotopes of oxygen, calculate the average atomic mass of oxygen. Assume that the atomic mass of each is the same as the mass number.   oxygen- 16:   99.76%    oxygen- 17:   0.037%    oxygen-18: 0.204%

Fusion or fission?
1. Which type occurs in nuclear power plants in an atomic bomb?

2. Which mainly powers the sun?

3. Which involves small nuclei combining to form large nuclei?

4. Which involves large nuclei breaking down to smaller nuclei?

5. Which produces large amounts of energy?

6. Which has the mass of its products less than the mass of its reactants? 
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